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Ry —

Riniazp — Ravias
Ryinerp — Reunin
Ny Ny
CRy,+—CRy
trop < tro
thch —0.0 2n
0 Hminp < 5Hmm
5H marp 'l 5H mazx
5H incrp < 5H min
PHminp < PHmin
P Hrmazp < PHmaz
¢H incrp < ¢H min
Repany — Reyan
Reprarp — Royar
RCincrp = RCMIN
Loop —tco
tCincrp —01n
5Cminp = 5Cmin
5Cmamp o~ 5Cmam
5Cincrp N 5Cmin
¢Cminp A ¢Cmin
PCmazp < Pomas
¢Cincrp — Pcmin
V,e—0.3 in®
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T, 70 °F
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Whlle RHMINP S RHiTLCTp S RHMAJp
while 0 <tyinerp <thop
while 5Hminp < 5Hinc7’p < 5Hmaa:p
while Gginp < Prinerp < Prrmazp
while Repsinp < Reinerp < Ronarp
while 0 <tcjperp <tcop
while 8¢, < Ocinerp < Ocmanp
’ while Qmemp < d)Cincrp < ¢C’mawp
” while 90 deg<6<450 deg




tH (9) = tHincrp + 5Hincr - Sin <nH ° <9 — ¢Hincr>>
Reginer* R

\/((RHMIN°COS(9)> +<RHmCT-sin(0)> )
wy(0) — Ry (0)—CRy

Ayr(0) —1t4(0)wy(0)

to(0) — tiner+ Ociner* 8in (N + (0 — Bciner))

Reiner* Ronnn

\/<<RC’MIN *cos (9)> : + <Rcmcr . sin (9)) ’ )
we(0) R (0)—CR.

Acr(0) —t:(6)-we(6)

Vleus (9) — ||if 90 deg < (9) <270 deg

0

Ry (0)

R (6)

- )-AHT(G) de

90 deg

if 270 deg<(6) <450 deg

270 deg (6 — 180 deg)

[(W)'AHT(G)dQ— (M

90 deg 90 deg

V timinus (6) < || if 90 deg<(0) <270 deg

270 deg 0

Ry (0)+CR Ry (6)+CR
J( OO, )00 J(_H< )+CR,

2 2

90 deg 90 deg
if 270 deg<(6) <450 deg
0
(RH(9)+CRH

- )-AHT(O) do

270 deg

Vopus (6) || if 90 deg<(6) <270 deg
6

R-(0)+CR
J (%) .ACT(Q) de
90 deg
if 270 deg<(0) <450 deg

450 deg 0

(W).ACT(O) 40— J(W)

270 deg 270 deg




270 deg 6
R-(6)+CR, R-(0)+CR
[( C’( )+ C)‘ACT(G)dO— J( C( )+ ‘
2 2
90 deg 90 deg

if 270 deg<(6) <450 deg

(el 0

270 deg

(9) A Vleus( ) +VC’mmus (9)

(9) A VHmmuS( )+ VCplus (9)

V3(6) —V1(6)

V4(0) —Vv2(6)

Viri234(0) = V1(0) +V2(0)+V3(6) +V4(6) +(2-V,,)
1 atm

mt“’(_(R.(m °F)

V1 (270 deg)

Tc * Tr ° Vleus (9) *Mye
Tc * Tr 1 Vleus (0) + Tc * Vre * Te + Tr * VCminus (9) * Te
Tr * VCminus (9) * Te s Mye
My (0) —
Tc ° Tr 9 Vleus (0) + Tc * Vre * Te + Tr * VCminus (0) * Te
Tc ° Vleus (0) ! Te *Mye
oy (6)
Tc * Tr k! Vleus (9) + Tc * Vre * Te + Tr * Vleus (9) * Te
my (9) Mgy (9) +mcl (9) + my.. (9)
MmMey (9) ‘R Te
Vleus (9)
mg (9) ‘R.T,
VCminus(e)

My — (%) V2 (27() deg)

My (6)

Pel (9) —

Pcl (9) —

Tc * Tr ° VHminus (0) *Myo
Tc * Tr T VHminus (9) + Tc ° Vre * Te + Tr ° VCplus (9) * Te
Tr * VCplus (9) * Te *Myy
Tc * Tr ) VHminus (9) + Tc * Vre * Te + Tr * VC’plus (9) * Te
Tc * Vleus (9) * Te *Myy
My (9) —
Tc * Tr 9 VHminus (0) + Tc * Vre * Te + Tr ° VHminus (0) * Te
Myo (9) My (9) +mc2 (9) + my.e (9)

Mo (9) —

™Mo (9) —




tCincr 0

¢H iner < ¢Hmin

5H iner < 0 Hmin

tHincr «—0

stack (Tcheck , 8 piper)

Mgy \U ) rie L,

Pe2 (9) —

V timinus (6)

Fele)
1) [, 0)-Per (o
T (0) = 2Ly 0) ez

Tyr3(0) = Torr1 (6)

qH4( ) T TqH2 (9)
Tourota (9) —Lam 9) + T (9) +Tqms (9) +Tyra (9)
1 (0) [P, 0)-Peae)
Toc2(0) —— w -Acr(0)-Pel(6)
Tocs(0) = Tgcn (6)
Tyca(0) T2 (0)

TqCTotal (9) AT Tqu (0) + TqCQ (9) + TqCS (0) + TqC4 (0)
TqTotal (9) T \urotal (9) + T ycrotal (0)

if TqTotal (9) >Tcheck

Tcheck — TqTotal (9)

continue

6+—6+0.1 deg

0 —90 deg
¢Cincr T ¢Cincr +0.1

¢Cincr — d)Cmin
5Cincr N 5Cmm« +0.1

5Cincr ' 5Cmin

tCincr T tCincr +0.1

RCincr ~ RCincr +0.1

RC’incr — RCM IN
d)Hincr — ¢Hincr +0.1

5Hincr — 5H’incr +0.1 n

tHincr = tHincr +0.1 in

RH’incr T RH’incr +0.1 in






